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分数（２）分数×分数               

 

次の計算をしなさい。 

 

① 
５

１
×
３

２
＝ 

１５

２
     ⑦ 

１５

４
×

８

３
＝ 

１０

１
    

  

  

  
  

② 
７

５
×

４

１
＝ 

２８

５
     ⑧ 

４

９
×

３

１６
＝ １２    

  

  

  
  

③ 
１０

９
×
１５

７
＝ 

５０

２１
   ⑨ 

３

１０
×
１５

２
＝ 

９

４
   

  

  

  
  

④ 
１４

９
×
６

５
＝ 

２８

１５
    ⑩ 

５

７
×
１４

１５
＝ １

２

１
，（

２

３
）  

  

  

  
  

⑤ 
３

２
×
１４

９
＝ 

７

３
   ⑪ 

３

８
×
１６

９
＝ １

２

１
，（

２

３
）  

  

  

  
  

⑥ 
１３

１１
×
２２

３
＝ 

２６

３
     ⑫ 

２０

９
×

９

４
＝ 

５

１
    

  

  
  


